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Mark, 

(3) 

0 

I Uk.I the r •~en , 11lue£ or 1hc 111111dx A = [ ~ ~ J Wliru ore 1hc: Eigc11 valu~ 
I • ( : ) 

v i -4 : A - 1 "11huu1 usmi; ,ts chn.ruc1crris1k cqu1111011 ' 

If :., = cy r· d "' d "' _ • , , rn :;;- a n 
8
- . 

r • +)' u X y 

Sho"' t.lul rhc cqu111ion u(x, () = sin( x - ct ) . satisfies wave e4untion 

E"aJuatef: f
0

2 f
0

1 
xyzdx dy dz. 

Find the mass of the lamina wilh density o (x, y) = x + Zy is bounded by the 

x - a.'lis. the line x = 1 nnd 1he curve y 2 = x . 

Find rhc rntional number rcpircscntcd by the repeating decimal 

5.373737 , ..... ... . 

k z 
Examine the convergence of Lk=J 

Uc2 +3 

Find the Taylor series expansion off (x) = sinnx about x = .!. 
2 

If f(x) is a periodic function with period 2rr delined in 1-rr. rrJ , Write the 

Euler's formulas a 0, a11 , b,. for f(x) . 
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MIIUl tl t I 

II • 1 I l'ln,11111• 111111" 1111110 .. 11 111111111 1, 111 ,11 ~1111111 , ,,h .- th, 1,, 11,11111,, 11t, a1 ,utr,11 •' n " 
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" I IJ.I, _ I ,nJ 1hr r1p,•n, nl11r, 111d cl11cm c, ttlr1 nl u 

(, 2 
7 _,, 

- '1 ,I 

I: • Sl_,f, C' the foll,,., tnjt l111ra1 , , , 1r111 ,11 cq11n1l1111~ ud ntt (ln11~1 chm111nt lon 111cth11ll (71 :h 2 I' I '1 1 ,. 0 
- It ♦ l v - f,z •t !iw IS 

I }' I 2r 0 

1
- 5 I m,I thl> fflll lt \ "' tlltl\l,lftnllllllll lhnt ll lni;m1nlt1c the mntrlx A • 2 _\I (1 ) 

MOUUl .t: 2 
! ~ • ~ kni;th anJ ,, 1d1 h of II rcctnnglc nrc mcn~urcd with errors of 111 most 3% nnd <7 l .a, rc-s1,cctl\-cl~ lhc difrcrcntillls to 11ppro11imnlc rhc n111x irn11111 pcrccnlngc 

cnur ,n the calculntcd nrc11 

h r,nd lhc local hncnr approxlma1io 11 L off (x. y . z) = xyz nl the poml P( 1,2,3). (7) 
Compute tltl' error 111 npproximatton f by I. 111 the point Q( 1.00 I, 2.002, 3.003). 

I~ a If w = f(P. Q, R) where P = x - y , Q = y - z. R = z - x prove thnl (7) ow dw ow -+-+- = 0 dx iJy iJz . 

t, Locatc all rcl1111vc extrema ond 5addlc points of f (x, y) = 4xy - x 4 - y • (7) 

MOUULEJ 
15 a I md the area houndctl hy the parnbolns y 2 = 4x uncl x 2 = f (7) 

h l 1•.'•-y' ' ') 1:,alua1c f_ 7 _ .'•-y' r_,,. ' 1 rlx dy 11sin11 fl('lnr coord111n1c~ 17) 

I f , a I JI , I ,·tdun t.: {. - , , tl.r rly h) reversing the otdt.:r o f 111tc&r1111t•n 0 y , • ) 171 
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t, 1 \ ... 
I ( 

I )•., I I, 11lt,,i11lu tc l) i;lut1,, r111c:11t or 
(7) 

~1 \\ h\1h<"I lltt• '-l'llt, 4-, 7r.i 
-.,1l\11th•n1ll1 """ u,•l' t1I 

I I I I 

l r,1 tilt' .. -,,m rr11c111.c l•I thl· \l'ric, - + - + - ~ - ·t- · • · ·· ·· · ·· 
1 2. l .'J J 4 4 .!i 

n, 

I 1..~l thr C\.)11\ Ctllt'IICC ll l'{i) Lk• I (_.!._)k' (ii) L::'e t ,• 
It+ I lc l 

(7) 

MODULE ~ 

o a 1 md tht" I ouricr series txpansion of f (x) = x - xJ In the rnngc: (- 1. t ) ( 7) 

t, Obt•in the half rungc Fourier cosine series of f (x) = e-x In O < x < 2 (7 ) 

:o a Find the Fc,uricr series expansion of f(x) = x2 in the interval -rr < x < rr. (7) 

I I I n 2 

I kntc :.ho,1 that t - - + - - - + · · · = -
21 31 4 1 12 

b ! x. 
rlh1:11n the hnlf rungc Fourier sine series or f(x) = 

n - ..r . (7) 
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